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Multiple Choice Questions

Rapunzel

. The garden in which the husband found a rapunzel flower was

owned by

a) a prince.
b) a witch.
c) aking.

. Inreturn for letting the husband take the flower, the wife had to give

up

a) her husband.
b) the prince.
c) her baby.

. The only way into
Rapunzel's tower was

a) using a ladder.
b) climbing up her hair.
c) using arope.

. When the witch pushed
the prince out the
window, he

a) hurt his eyes.
b) fell on the witch.
c) fell on Rapunzel.

. When the prince found
Rapunzel, her tears

a) made him sad.
b) made him better.
¢) made him angry.
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